= el 2 3 4 S | 6
ERZRR T
Panel Cut-out
HEASHK: y L PE3
- EREF: M2 XCode Whhﬁggiﬁho\e With thread to |~
- @4k 8 screw in
- BRAR (40°C): 0.54 ‘
- BREE: 60V . -
= «©
- BgwE: >100MQ E —| < % — w 135 . 4.5 [ |
- GEAR: BERNH s =) @ S = > : max.
- 4% 1P6eT Hal o Wl /scale 1:1 WAl /scale 1:1
- FR%%k: =100 # 3 O, - :
- BREH: 25T .. 45T | J PGS | PGI [615.3
- AR REER M16x1.5]M16x1.5 216.1 =
- fEMR: PA
- BAER: 6-8mm 18/SW17/
- BB 4R / HiLH . BAE
Contact Circuit diagram
ARMITIAS: 8+00.6 mm gm”geme”z 5688
I 1 | >—1— &/& white/orange
b ) @ 3 2 | >—1— RB#orange
Q 3| >—+— B/% white/qgreen
41> Hfgeen
Technical specification: L w/ white/b
— Series: M12 X-Code 7 @@ ) 5 | >— B/ white/brown o
— Number of contacts: 8 6 | >—— #brown
— Rated current (40C): 0.5A 8 T 1 7 | >—1— &/ white/blue
— Rated voltage: 60V >
— Rated impulse voltage: 0.8KV 8 Eéblue
— Pollution degree: 3
— Insulation resistance: =100MQ) BE
— Connector locking system: screw M12*1 RERE _ mein;’_ No -
— Degree of protection: IP67 Finish i
— Mating cycles: 2100 PERF \12-MCOBK-CCT/R-M16-D8-SH
— Temperature range: —25C ... +85C TR — — i 5 h _ Part Code
— Material of housing: Zinc diecasting nickel plated Vo Nioke] % E 4% /Description Siqné%ure Date _[Material FERE | 1630087102001 |<
— Material of insert: PA #4 /Name| H#i/Date #4/Name | B¥/Date [ i | Wk | EE | k& Lot No
— Cable Outlet: 6-8mm = Scale | REV. |Weight| Qty. | #a4#% _
— Material of locking system: Metal D%o%m TC CHEN 122.09.2021 gﬁ%\% ~ ~ 21 | w20 Part Name|
e : . - - :
Order crimp contacts: 8*#0.6 mm separately Checked| 24 XU 22.09.2021 H Dimensions i mm ﬁ EEERSAERAR
Prc:fc%ss _ - Apgdéove 4| HQ' ZHANG {22.09.2021 ¢ = Orginal Sze ON A 4 | "\’ XIAMEN WAIN ELECTRICAL GOLTD
1 | 2 S | 4 | S | b




